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BCA Examination 2018-19

(Even Semester)
MATHEMATICS-1I
Time : 3 Hours] [Maximum Marks : 100
Note: (i) Attempt all questions.
SECTION-A

1. Fill in the blanks. 1x10=10

(a) If A and B are adjoint sets then A N B =

(b) Ifn(A)=0thennp(A)=....cccmviver......

(c) If R is a symmetric relaction then x Ry =

(d) RelationR is transitive if

-------------------

(€) If f (x) = 3x-5,yx e R then f' (5)

[P. T.O.
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BCAT 124 4

(b)

4. (a)

(b)

(b)

(b)

(b)

For any sets A and B prove that :
A-B=(ANB").
Prove that relation R 1s defined as :

(a,b)R (c.d) = ad =bc. Prove that R is equiveles

relation.

Define recursive function with example.

If fix) = x> + 1, vxeR and g (x) = 2X, vx<R
verify that (gof) ' =f'og™.

Prove that f(x) = 5x+7, wxeR is invertible.

Hence find its inverse.
Define partial order relation with example.

Draw Hasse diagram for (P (S), C) where S= {a,
b, ¢}. Hence prove that it is laltice.

Prove that G= {1, -1, j, -j} is a multiplicative
group.

Define Ring with example.
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